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This is part 3 of a challenge involving a polyalphabetic cipher that

makes use of the well known Pigpen substitution cipher.

This time a randomly generated, non-periodic rotation key was

used along with a di�erent substitution to the usual Pigpen cipher

(as in part 2).

Is it possible to break the cipher this time? The plaintext is in

English and it is - again - a quote. The codeword is the 12th word.

Please enter it in capital letters.
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Ciphertext:

AOONXNTPSLCUFNUEIXGOEBCTYHLAAXURNTEFWIGPUTRAG

BVHUAUNYCESVEFCNUADINJOKXLGXVGNSTVATIBLFSCNNLU

Hint:

The plaintext starts with "A COMPUTER".
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